

Name: Owura William Obazoba

Department: Computer Science

Matric Number: 19/SC101/081

MAT 104 Assignment

② a. $\int dx/(x^2+36)$

$$\int \frac{dx}{x^2+36} = \int \frac{dx}{x^2+6^2}$$

$$x = 6 \tan \theta$$

$$\frac{dx}{d\theta} = 6 \sec^2 \theta$$

$$dx = 6 \sec^2 \theta d\theta$$

$$x^2+6^2 = 6^2 \tan^2 \theta + 6^2 = 6^2 (\tan^2 \theta + 1)$$

$$= 36 \sec^2 \theta$$

$$\int \frac{6 \sec^2 \theta d\theta}{36 \sec^2 \theta} = \int \frac{d\theta}{6} = \frac{1}{6} \int d\theta$$

$$= \frac{1}{6} [\theta] + C$$

$$= \frac{1}{6} \tan^{-1} x/6 + C$$

b. $\int \frac{dx}{6x^2+13} = \int \frac{dx}{x^2+(\sqrt{13})^2}$

$$x = \sqrt{13} \tan \theta$$

$$\frac{dx}{d\theta} = \sqrt{13} \sec^2 \theta$$

$$dx = \sqrt{13} \sec^2 \theta d\theta$$

$$x^2+(\sqrt{13})^2 = (\sqrt{13})^2 \tan^2 \theta + (\sqrt{13})^2 = (\sqrt{13})^2 (\tan^2 \theta + 1)$$

$$= 13 \sec^2 \theta$$

$$\int \frac{\sqrt{13} \sec^2 \theta d\theta}{13 \sec^2 \theta} = \int \frac{\sqrt{13} d\theta}{13} = \frac{\sqrt{13}}{13} \int d\theta$$

$$= \frac{\sqrt{13}}{13} [\theta] + C$$

$$= \frac{\sqrt{13}}{13} \tan^{-1} x/\sqrt{13} + C$$

$$(1a) \quad Y = \sin(3/x^2) \Rightarrow Y = \sin 3x^{-2}$$

$$\text{let } u = 3x^{-2}$$

$$\Delta y + y = \sin(\Delta u + u)$$

$$\Delta y = \sin(\Delta u + u) - y$$

$$\Delta y = \sin(\Delta u + u) - \sin u$$

$$\text{recall } \sin A - \sin B = 2 \cos \frac{A+B}{2} \cdot \sin \frac{A-B}{2}$$

$$\text{let } A = \Delta u + u, \quad B = u$$

$$\frac{A+B}{2} = \frac{\Delta u + u + u}{2} = \frac{\Delta u + 2u}{2} = u + \frac{\Delta u}{2}$$

$$\frac{A-B}{2} = \frac{\Delta u + u - u}{2} = \frac{\Delta u}{2}$$

$$\text{Hence } \frac{\Delta y}{\Delta u} = 2 \cos\left(u + \frac{\Delta u}{2}\right) \sin\left(\frac{\Delta u}{2}\right) \times 1/2$$

$$\lim_{\Delta u \rightarrow 0} \frac{\Delta y}{\Delta u} = \cos(u) \times 1/2 \quad \lim_{\Delta u \rightarrow 0} \frac{\Delta u}{2} / \frac{\Delta u}{2} = \frac{\Delta u}{2} / \frac{\Delta u}{2}$$

$$\frac{dy}{dx} = \cos u \times 1 = \cos u$$

$$\text{Recall } u = 3x^{-2}$$

$$u = \frac{3}{x^2}$$

$$\Delta u + u = \frac{3}{(\Delta x + x)^2}$$

$$\Delta u = \frac{3}{(\Delta x + x)^2} - u$$

$$\Delta u = \frac{3}{(\Delta x + x)^2} - \frac{3}{x^2}$$

$$\Delta u = \frac{3x^2 - 3(\Delta x + x)^2}{x^2 (\Delta x + x)^2}$$

$$\Delta u = \frac{3x^2 - 3(x^2 + 2x\Delta x + \Delta x^2)}{x^2 (\Delta x + x)^2} = \frac{3x^2 - 3x^2 - 6x\Delta x - 3\Delta x^2}{x^2 (x + \Delta x)^2}$$

$$\frac{\Delta y}{\Delta x} = \frac{-6x\Delta x - 3\Delta x^2}{x^2 (\Delta x + x)^2} \times \frac{1}{\Delta x}$$

$$\frac{\Delta y}{\Delta x} = \frac{-6x\Delta x}{x^2(x+\Delta x)^2} \times \frac{1}{\Delta x} = \frac{-3(\Delta x)^2}{x^2(x+\Delta x)^2} \times \frac{1}{\Delta x}$$

$$\frac{\Delta y}{\Delta x} = \frac{-6x}{x^2(x+\Delta x)^2} - \frac{3\Delta x}{x^2(x+\Delta x)^2}$$

$$\lim_{\Delta x \rightarrow 0} \frac{\Delta y}{\Delta x} = \frac{-6x}{x^2(x+0)} - \frac{3(0)}{x^2(x+0)}$$

$$\frac{dy}{dx} = \frac{-6x}{x^4} = -6x^{-3}$$

$$\begin{aligned} \frac{dy}{dx} &= \frac{dy}{du} \times \frac{du}{dx} \\ &= -6x^{-3} \cos u \\ &= -6x^{-3} \cos\left(\frac{3}{x^2}\right) \\ &= \frac{-6}{x^3} \cos \frac{3}{x^2} \end{aligned}$$

b) $y = 4/x^3$

$$y + \Delta y = \frac{4}{(\Delta x + x)^3}$$

$$\Delta y = \frac{4}{(\Delta x + x)^3} - y$$

$$\Delta y = \frac{4}{(\Delta x + x)^3} - \frac{4}{x^3}$$

$$\Delta y = \frac{4x^3 - 4(\Delta x + x)^3}{x^3(\Delta x + x)^3}$$

$$\Delta y = \frac{4x^3 - 4x^3 - 12x^2\Delta x - 12x\Delta x^2 - 4\Delta x^3}{x^3(\Delta x + x)^3}$$

$$\frac{\Delta y}{\Delta x} = \frac{-12x^2\Delta x - 12x\Delta x^2 - 4\Delta x^3}{x^3(\Delta x + x)^3 \Delta x}$$

$$\lim_{\Delta x \rightarrow 0} \frac{\Delta y}{\Delta x} = \frac{-12x^2}{x^3(x+0)^3} = 0 = 0$$

$$\frac{dy}{dx} = \frac{-12x^2}{x^6}$$

$$\frac{dy}{dx} = -12x^{-4}$$